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=1 tH ol
A = 0]l & M(EH Ol & Bt
(20194 3& 1 ~ 20204 2& 292ItHXl)
1. &= ¢& (EH9: HR)
= SHE2 A
201949 = 20189 = = >t ol
Oil & =0 ot ==
- = - 2 S AH(&)
5200 Y & I8¢ 100,000 - 100,000
5210 8 ==& 100,000 - 100,000
5217 =2 AIg 8 = 100,000 - 100,000 [ =22l H = =L 100,000,000
5400 W E2+¢ 497,540 403,810 93,730
410 Ol Ol At==& 497,520 336,000 161,520
5411 Gl =0l At 497,520 336,000 161,520 |[p+=24E HIll= = 0l At==& 497,520,000
5420 W=2|+=g 20 20 -
5421 &=+=¢ 20 20 - SIOLAl MBS H S 20,000
5430 = T &= - 67,790 —-67,790
5432 i ==& - 67,790 —-67,790
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3 = ME
20199 < 201849 € = 51 o
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1200 SX+2tJ|EHXH A2 - 5,990,182 -5,990,182
1220 S XFRFAF L - 5,990,182 ~5,990,182
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r = 2019E & 2018E & = 5 o
2 8 2 Ot AU T Z(2)
s 235,578,000
e 18,210,000
s 143,200,000
IS 6,530,000
4513 RIS 2 - 11,000 ~11,000
NS AHOIHHTH - 11,000 -11,000
4600 051t 100,000 100,000 -
4610 OflHIHI 100,000 100,000 -
4611 0flHlH| 100,000 100,000 o LG 100,000,000
1200 SX 24| EFRHAHK & - 3,152,347 | -8,152,347
1240 J|EHKHAFKI 2 - 3,152,347 3,152,347
124422 0 20/l X| - 3,152,347 3,152,347
1300 DE KA XI & - 190,000 ~190,000
1310 RS DH AU XIS - 190,000 ~190,000
1315 & JIHIZ0H bl - 190,000 ~190,000
M2 AHOIEH CH - 190,000 -190,000
AeD - - -
@ ol - - -
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r = 2019E & 2018E & = 5 o
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=3 2 88 81,018 56,600 24,418 =2 Y a8l 81,018,000
I 2 X sz 2,975,912 8,243,499 | -5,267,587
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- = 018l 4(A) 01 H| ZH(B) 1015 B3 (B/A) B D
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4= SH (2102 ALY ) 2 3,000,000 1,500,000
SRR 2 6,720,000 3,360,000
g 81,720,000 40,860,000
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